4.1 Writing inequalities & Checking Solutions
EQ: How can we use what we know about inequalities to write them and check solutions?
Inequality: a mathematical sentence that compares expressions. It contains the symbols <, >, ≤, or ≥ . 
[image: ]
In order to write an inequality: look for these phrases to determine where to place the inequality symbol.
	Inequality Symbols

	Symbol
	<
	>
	<
	>

	Key Phrases
	· is less than
· is fewer than
	· is greater than
· is more than
	· is less than or equal to
· is at most
· is no more than
	· is greater than or equal to
· is at least
· is no less than


[image: ] A number q plus 5 is greater than or equal to -7.9. 
Write this sentence as an inequality.
[image: ]

PRACTICE writing the following sentences as INEQUALITIES.
[image: ][image: ]2y > -
  X < -10

[image: ]3.				        4. -4t > -
Y < - 8


[image: ][image: ]5.  	      6. 
b - 4.2 < - 7.5
w + 2.3 > 18



[image: ]
A solution of an inequality: a value that makes the inequality true. 
***An inequality can and usually will have more than one solution. 
Solution Set: The set of all solutions of an inequality.
[image: ]
[image: ]
[image: ]
       -5 + 12 > 7	1 – 2(-5) < -9		  -5  ÷ 2.5 > -3
           7 > 7	1 + 10 < -9			   -2 > -3
      NOT TRUE, so not 	11  < -9			This statement IS TRUE
      a solution	NOT TRUE, so NOT 	so, -5 IS a SOLUTION.
 	a solution



4.1 Writing Inequalities and Checking Solutions
EQ: _________________________________________________
____________________________________________________
Inequality: ___________________________________________
____________________________________________________
____________________________________________________
[image: ]
[bookmark: _Hlk480403532]In order to write an inequality: __________________________
____________________________________________________
	Inequality Symbols

	Symbol
	<
	>
	<
	>

	Key Phrases
	· is less than
· is fewer than
	· is greater than
· is more than
	· is less than  or equal to
· is at most
· is no more than
	· is greater than or equal to
· is at least
· is no less than


[image: ]  A number q plus 5 is greater than or equal to -7.9
Write this sentence as an inequality.
A number q plus 5 is greater than or equal to -7.9.


[image: ]
PRACTICE writing the following sentences as INEQUALITIES.
[image: ][image: ]
[image: ]3. 				        4. 
[image: ] [image: ]5.	      6. 



[image: ]
A solution of an inequality: _____________________________
____________________________________________________
***An inequality can and usually will have more than one solution. 
Solution Set: The set of ______ _____________of an inequality.
[image: ]
[image: ]Substitute the given
value (-2) for y

Simplify

[image: ]
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Write the word sentence as an inequality.

6. Anumberyis no more than -8.

7. Anumber wadded to 2.3 is more than 18.
8. Anumber ¢ multiplied by —4 is at least —%.

9. Anumber b minus 4.2 is less than —7.5.

10. ERROR ANALYSIS Describe and correct e i
the error in writing the word sentence iolatimony
as an inequality.
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EXAMPLE (7} BRI ORI :

Tell whether —2 is a solution of each inequality.

a. y—-52-6 b. —-55y<14
y—-52-6 Write the inequality. —5.5y < 14
? ?
2-5>-6 Substitute —2 for . —5.5(—2) < 14
-7%2 -6 x Simplify. 11<14 1/
—7is not greater than or 11is less than 14.
equal to —6.
So, —2 is not a solution So, —2 is a solution
of the inequality. of the inequality.

@ On Your Own

’ Tell whether —5 is a solution of the inequality.

. y
b Exercises 11-16 3. x+12>7 4. 1-2p<—9 5 n+252-3
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EXAMPLE (9] SR E] 137

Anumber q plus 5 is greater than or equal to —7.9. Write this word
sentence as an inequality.

A number q plus 5 is greater than or equal to —7.9.

q+5 > =&

i+ Aninequalityisqg + 5> —7.9.

@ On Your Own

g Write the word sentence as an inequality.

. . . . 5
Exercises 6-9 ” 1. Anumber xisatmost —10. 2. Twice a number yis more than -3
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Write the word sentence as an inequality.

6. Anumber yis no more than —8.

7. Anumber w added to 2.3 is more than 18.
8. Anumber t multiplied by —4 is at least —%.

9. Anumber b minus 4.2 is less than —7.5.

10. ERROR ANALYSIS Describe and correct
the error in writing the word sentence
as an inequality.
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Write the word sentence as an inequality.

6. Anumber yis no more than —8.

7. Anumber w added to 2.3 is more than 18.
8. Anumber f multiplied by —4 is at least —%.

9. Anumber b minus 4.2 is less than —7.5.

Twice a nun
is at most

the error in writing the word sentence
as an inequality.
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10. ERROR ANALYSIS Describe and correct X
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Write the word sentence as an inequality.

Q% o

mysus = st @

6. Anumber yis no more than —8.

7. Anumber wadded to 2.3 is more than 18.
8. Anumber t multiplied by —4 is at least —%.

9. Anumber b minus 4.2 is less than —7.5.

10. ERROR ANALYSIS Describe and correct TwiceTalny
the error in writing the word sentence Bes s
as an inequality.
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